Line of Sight 
Broadcasting 01 Sec________

1. ____________________________

2. ____________________________

3. ____________________________

4. ____________________________

5. ____________________________

6. ____________________________

	This grading system works quite simply:
Select 2 YES answers that best describe the success and quality of the message.  
	YES
	NO

	Is the system capable of transmission? 
	+60
	

	Did the complete message arrive with absolute accuracy?  
	+40
	

	Was the message complete yet inaccurate, incoherent or garbled?   
	+25
	

	Did more than 50% of the message arrive?  
	+20
	

	Did more than 25% of the message arrive?
	+15
	

	Was the message sent but not received?  
	+10
	

	Did system fail in its entirety? 
	0
	

	TOTAL 
	
	


